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PROBABILITY

Solved Examples Section 1 Multiple Choice

Question

1. If A and B are independent events and if

P(A cap B)` isP (A) = , P (B) = , then
1

2

2

5

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5qNqs5i4Vobf


equal to :

A. 

B. 

C. not defined

D. 

Answer: C

Watch Video Solution

0

1

2

1

https://dl.doubtnut.com/l/_5qNqs5i4Vobf


2. If A and B are two events such that

. Then.

A. 

B. B=A

C. 

D. 

Answer: D

Watch Video Solution

A ∩ B ≠ ϕ, P( ) = P( )
A

B

B

A

A ⊂ BbutA ≠ B

A ∩ B = ϕ

P (A) = P (B)

https://dl.doubtnut.com/l/_CQvYjwdKX0So
https://dl.doubtnut.com/l/_6taNTePDBWbs


3. Two events A and B are said to be

independent if

A. A and B are mutually exlusive

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (A' B' ) = [1 − P (A)][1 − P (B)]

P (A) = P (B)

P (A) + P (B) = 1

https://dl.doubtnut.com/l/_6taNTePDBWbs


4. The probability of obtaining an even prime

number on each die, when a pair of
 dice is

rolled is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0

1

3

1

12

1

36

https://dl.doubtnut.com/l/_aW7ZFXXuIbwF


5. If A and B are two events such that 

and , then which of the
following is

correct?

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

A ⊂ B

P (B) ≠ 0

P (A /B) =
P (B)

P (A)

P (A /B) < P (A)

P (A /B) ≥ P (A)

https://dl.doubtnut.com/l/_YEaQIgRUrFmh


6. The mean of the numbers obtained on

throwing a die having written 1 on three
faces,

2 on two faces and 5 on one face is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

5

8

3

https://dl.doubtnut.com/l/_HSFMbSHvxQ8T


7. If A and B are any two events such that :

B) = P(A)`, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

P (A) + P (B)– P (A and

P (B /A) = 1

P (A /B) = 1

P (B /A) = 0

P (A /B) = 0

https://dl.doubtnut.com/l/_wzDa4KKo1gyJ


Solved Examples Section Ii Short Answer Type

Question

1. Compute ,if  and 

Watch Video Solution

P (A ∣ B) P (B) = 0.5

P (A ∩ B) = 0.32

2. Given that E and F are events such that

 and 

 find  and 

Watch Video Solution

P (E) = 0.6, P (F ) = 0.3

P (E ∩ F ) = 0.2 P (E ∣ F ) P (F ∣ E)

https://dl.doubtnut.com/l/_nq9LgYKuSGh4
https://dl.doubtnut.com/l/_l01haOYUNIiL


3. If  and 

, find 


(i)  


(ii)  


(iii) 

Watch Video Solution

P (A) = 0.8, P (B) = 0.5

P (B /A) = 0.4

P (A ∩ B)

P (A /B)

P (A ∪ B)

4. Evaluate , if 

 and  .

P (A ∪ B)

2P (A) = P (B) =
5

13
P (A /B) =

2

5

https://dl.doubtnut.com/l/_l01haOYUNIiL
https://dl.doubtnut.com/l/_uBoGxlaGjR5h
https://dl.doubtnut.com/l/_P2MKnXGxNzol


Watch Video Solution

5. If  and 

 find : 


(i)  


(ii)  and 


(iii) 

Watch Video Solution

P (A) = , P (B) =
6

11

5

11

P (A ∪ B) =
7
11

P (A ∩ B)

P (A /B)

P (B /A)

6. Determine  if A coin is tossed

three times, where : E : at least two heads , F :

P (E ∣ F )

https://dl.doubtnut.com/l/_P2MKnXGxNzol
https://dl.doubtnut.com/l/_ULRWUdBQErxH
https://dl.doubtnut.com/l/_j0MuL5FMkZEQ


at most two heads

Watch Video Solution

7. Determine  Mother, father and son

line up at random for a family picture :E : son

on one end, F : father in middle

Watch Video Solution

P (E ∣ F )

8. A black and a red dice are rolled :Find the

conditional probability of obtaining a sum

https://dl.doubtnut.com/l/_j0MuL5FMkZEQ
https://dl.doubtnut.com/l/_xzD1XGml90Ml
https://dl.doubtnut.com/l/_7AzOoP2Cjnek


greater than 9, given
 that the black die

resulted in a 5.

Watch Video Solution

9. A fair die is rolled . Consider events

 and 

 . Find 


(i)  and  


(ii)  and  


(iii)  and 

Watch Video Solution

E = {1, 3, 5}, F = {2, 3}

G = {2, 3, 4, 5}

P (E/F ) P (F /E)

P (E/G) P (G/E)

P (E ∪ F /G) P (E ∩ F /G)

https://dl.doubtnut.com/l/_7AzOoP2Cjnek
https://dl.doubtnut.com/l/_0knZe8jwILkj


10. An instructor has a question bank

consisting of 300 easy True / False questions,

200 difficult True / False questions, 500 easy

multiple choice questions and 400
 difficult

multiple choice questions. If a question is

selected at random from the
 question bank,

what is the probability that it will be an easy

question given that it
 is a multiple choice

question?

Watch Video Solution

https://dl.doubtnut.com/l/_0knZe8jwILkj
https://dl.doubtnut.com/l/_yyIPaSllYiRa
https://dl.doubtnut.com/l/_Po91Hg0u1WQ3


Solved Examples Section Iii

11. Consider the experiment of throwing a die,

if a multiple of 3 comes up, throw the
 die

again and if any other number comes, toss a

coin. Find the conditional probability
 of the

event ‘the coin shows a tail’, given that ‘at

least one die shows a 3’.

Watch Video Solution

https://dl.doubtnut.com/l/_Po91Hg0u1WQ3


1. The events A and B are given to be

independent . Find P(B), If it is given that

 and 

Watch Video Solution

P (A) = 0.35 P (A ∪ B) = 0.60

2. Given two independent events A and B such

that , and  Find: P(A

and not B )

Watch Video Solution

P (A) = 0.3 P (B) = 0.6

https://dl.doubtnut.com/l/_ZEuCDzEdEqGI
https://dl.doubtnut.com/l/_sJDybwY3qLiZ
https://dl.doubtnut.com/l/_ZlR0qaUcTUwl


3. If A and B are two events such that

 and 

, find P (not A and not B) .

Watch Video Solution

P (A) = , P (B) =
1

4

1

2
P (A ∩ B) =

1

8

4. A fair coin and an unbiased die are tossed.

Let A be the event ‘head appears on
 the coin’

and B be the event ‘3 on the die’. Check

whether A and B are
 independent events or

not.

Watch Video Solution

https://dl.doubtnut.com/l/_ZlR0qaUcTUwl
https://dl.doubtnut.com/l/_AzORElt1l9OP


5. A die marked 1, 2, 3 in red and 4, 5, 6 in green

is tossed. Let A be the event,
 ‘the number is

even,’ and B be the event, ‘the number is red’.

Are A and B
independent?

Watch Video Solution

6. One card is drawn at random from a well

shuffled deck of 52 cards. In which of
 the

following cases are the events E and F

https://dl.doubtnut.com/l/_AzORElt1l9OP
https://dl.doubtnut.com/l/_ltqPikdWxb5T
https://dl.doubtnut.com/l/_YvzcA6hZhyLi


Solved Examples Section Iv

independent ?E : ‘the card drawn is a spade’
F :

‘the card drawn is an ace’

Watch Video Solution

1. Two balls are drawn at random with

replacement from a box containing 10 black

and 8 red balls. Find the probability that both

balls are red.

Watch Video Solution

https://dl.doubtnut.com/l/_YvzcA6hZhyLi
https://dl.doubtnut.com/l/_5e9WEeSP77sw


2. There are three urns A,B and C . Urn A

contains  white balls and  blue balls . Urn B

contains  white balls and  blue balls . Urn C

contains  white balls and  blue balls . One

ball is drawn from each of these urns . What is

the probability that out of these three balls

drawn, two are white balls and one is a blue

ball ?

Watch Video Solution

4 5

3 4

3 6

https://dl.doubtnut.com/l/_5e9WEeSP77sw
https://dl.doubtnut.com/l/_gavAHxXy3foC


3. In a hostel, 60% of the students read Hindi

news paper, 40% read English news
paper and

20% read both Hindi and English news papers.

A student is selected
 at random. Find the

probability that she reads neither Hindi nor

English news papers.

Watch Video Solution

4. Probability of solving specific problem

independently by A and B are  and 
1

2

1

3

https://dl.doubtnut.com/l/_l51DNRvU87gR
https://dl.doubtnut.com/l/_bbNiNsXHCDF1


respectively . If both try to solve the problem

independently, find the probability that 

(i) the problem is solved 

(ii) exactly one of them solve the problem .

Watch Video Solution

5. A problem in Mathematics is given to three

students Dayanand, Ramesh and Naresh and

whose chances of solving it are 

respectively, what is the probability that the

problem will be solved ?

, ,
1

2

1

3

1

4

https://dl.doubtnut.com/l/_bbNiNsXHCDF1
https://dl.doubtnut.com/l/_GnmnbrnAN8Lo


Solved Examples Section V

Watch Video Solution

6. A and B throw a die alternatively till one of

them gets a ‘6’ and wins the
 game. Find their

respective probabilities of winning, if A starts

first.

Watch Video Solution

https://dl.doubtnut.com/l/_GnmnbrnAN8Lo
https://dl.doubtnut.com/l/_QtPYcpdxT8Y0


1. An urn contains 5 red and 5 black balls. A

ball is drawn at random, its colour is
 noted

and is returned to the urn. Moreover, 2

additional balls of the colour drawn
are put in

the urn and then a ball is drawn at random.

What is the probability that
the second ball is

red?

Watch Video Solution

https://dl.doubtnut.com/l/_bxCntHayc7cI


2. A bag 'A' contains  white and  black balls,

while the other bag 'B' contains  white and 

black balls . A ball is transferred (without

noticing its colour ) from the bag 'A' to the bag

'B' . Then a ball is drawn from bag 'B'. Find the

probability that the ball drawn is white .

Watch Video Solution

8 7

5 4

3. A bag contains  white and  black balls,

white another bag contains  white and 

10 3

3 5

https://dl.doubtnut.com/l/_XG5MK47tuiQU
https://dl.doubtnut.com/l/_m8ofiU8yqbEw


black balls. Two balls are drawn from the first

bag and put into the second and then a ball is

drawn from the latter. What is the probability

that it is white ball ?

Watch Video Solution

4. A laboratory blood test is 99% effective in

detecting a certain disease when it is
 in fact,

present. However, the test also yields a false

positive result for 0.5% of
 the healthy person

tested (i.e. if a healthy person is tested, then,

https://dl.doubtnut.com/l/_m8ofiU8yqbEw
https://dl.doubtnut.com/l/_ooGf7sMXh8yo


with probability
 0.005, the test will imply he

has the disease). If 0.1 percent of the

population
 actually has the disease, what is

the probability that a person has the disease

given that his test result is positive ?

Watch Video Solution

5. Of the students in a college, it is known that

60% reside in hostel and 40% are
day scholars

(not residing in hostel). Previous year results

report that 30% of all
 students who reside in

https://dl.doubtnut.com/l/_ooGf7sMXh8yo
https://dl.doubtnut.com/l/_K9cBTDFzMoFE


hostel attain A grade and 20% of day scholars

attain A
grade in their annual examination. At

the end of the year, one student is chosen
 at

random from the college and he has an A

grade, what is the probability that the
student

is a hostlier?

Watch Video Solution

6. In answering a question in a multiple choice

test a student either knows the answer or

guesses. Let  be the probability that he
3

4

https://dl.doubtnut.com/l/_K9cBTDFzMoFE
https://dl.doubtnut.com/l/_vjxoVN3OTtGF


knows the answer and  be the probability

that he guesses. Assuming that a student who

guesses at the answer will be correct with

probability  . What is the probability that a

student knows the answer, given that he

answered it correctly ?

Watch Video Solution

1

4

1

4

7. A manufacturer has three machine

operators A, B and C. The first operator A

produces 1% defective items, where as the

https://dl.doubtnut.com/l/_vjxoVN3OTtGF
https://dl.doubtnut.com/l/_wNT45HOZI9B7


other two operators B and C pro�duce 5% and

7% defective items respectively. A is on the job

for 50% of the
time, B is on the job for 30% of

the time and C is on the job for 20% of the

time.
A defective item is produced, what is the

probability that it was produced by A?

Watch Video Solution

8. An insurance company insured 2000 scooter

drivers, 4000 car drivers and 6000
 truck

drivers. The probability of an accidents are

https://dl.doubtnut.com/l/_wNT45HOZI9B7
https://dl.doubtnut.com/l/_UaIAdaflkyiX


0.01, 0.03 and 0.15 respectively.
 One of the

insured persons meets with an accident. What

is the probability that
he is a scooter driver?

Watch Video Solution

9. Suppose a girl throws a die. If she gets a 5

or 6, she tosses a coin three times and notes

the numbers of heads. If she gets 1,2,3, or 4,

she tosses a coin once and notes whether a

head or a tail is obtained. If she attained

https://dl.doubtnut.com/l/_UaIAdaflkyiX
https://dl.doubtnut.com/l/_FEwvdjZMhmHt


exactly one head what is the probability that

she threw 1,2,3, or 4 with the die?

Watch Video Solution

10. Two groups are competing for the position

on the Board of directors of a
corporation. The

probabilities that the first and the second

groups will win are 0.6 and 0.4 respectively.

Further, if the first group wins, the probability

of
 introducing a new product is 0.7 and the

corresponding probability is 0.3 if the
 second

https://dl.doubtnut.com/l/_FEwvdjZMhmHt
https://dl.doubtnut.com/l/_1WB81l3WEwPe


group wins. Find the probability that the new

product introduced was by
the second group.

Watch Video Solution

11. A card from a pack of 52 cards is lost. From

the remaining cards of the pack,
two cards are

drawn and are found to be both diamonds.

Find the probability of
 the lost card being a

diamond.

Watch Video Solution

https://dl.doubtnut.com/l/_1WB81l3WEwPe
https://dl.doubtnut.com/l/_ZfNB7ZgAGChR


Solved Examples Section Vi

1. Find the probability distribution of the

number of successes in two tosses of a die,

where a success is defined as : number greater

than 4

Watch Video Solution

2. Find the probability distribution of number

of heads in two tosses of a coin

Watch Video Solution

https://dl.doubtnut.com/l/_nydv70Ni69v8
https://dl.doubtnut.com/l/_PbDV8mP4Z5Gw


3. A coin is biased so that the head is 3 times

as likely to occur as tail. If the coin is
 tossed

twice, find the probability distribution of

number of tails.

Watch Video Solution

4. Two cards are drawn (without replacement)

from a well shuffled deck of 52 cards. Find

https://dl.doubtnut.com/l/_PbDV8mP4Z5Gw
https://dl.doubtnut.com/l/_UEfFCAjd9IqQ
https://dl.doubtnut.com/l/_tbkPorpWtOj5


probability distribution table and mean of

number of kings.

Watch Video Solution

5. Two cards are drawn successively with

replacement from a well-shuffled
 deck of 52

cards. Find the probability distribution of the

number of aces.

Watch Video Solution

https://dl.doubtnut.com/l/_tbkPorpWtOj5
https://dl.doubtnut.com/l/_eBaxFtPhqErq


6. From a lot of 30 bulbs which include 6

defectives, a sample of 4 bulbs is drawn
 at

random with replacement. Find the probability

distribution of the number of
defective bulbs.

Watch Video Solution

7. Find the mean number of heads in three

tosses of a fair coin.

Watch Video Solution

https://dl.doubtnut.com/l/_F96Rm8q0Uf5b
https://dl.doubtnut.com/l/_zcfyysH7fbEi
https://dl.doubtnut.com/l/_RKHZ4lGJvajp


8. In a meeting, 70% of the members favour

and 30% oppose a certain proposal.
A member

is selected at random and we take  if he

opposed, and  if
 he is in favour. Find 

 and .

Watch Video Solution

X = 0

X = 1

E(X) V ar(X)

9. Let X denote the sum of the numbers

obtained when two fair dice are rolled.
 Find

the variance and standard deviation of X.

Watch Video Solution

https://dl.doubtnut.com/l/_RKHZ4lGJvajp
https://dl.doubtnut.com/l/_I2bWTCulbiG1


10. Two dice are thrown simultaneously. If X

denotes the number of sixes, find the

expectation of X.

Watch Video Solution

11. A class has 15 students whose ages are 14,

17, 15, 14, 21, 17, 19, 20, 16, 18, 20,
17, 16, 19 and 20

years. One student is selected in such a

manner that each has
 the same chance of

https://dl.doubtnut.com/l/_I2bWTCulbiG1
https://dl.doubtnut.com/l/_5tBmZP7zRais
https://dl.doubtnut.com/l/_iAKuWYbMDdkT


being chosen and the age X of the selected

student is
 recorded. What is the probability

distribution of the random variable X? Find

mean, variance and standard deviation of X.

Watch Video Solution

12. Two numbers are selected at random

(without replacement) from the first six

positive integers. Let X denote the larger of

the two numbers obtained. Find
E(X).

Watch Video Solution

https://dl.doubtnut.com/l/_iAKuWYbMDdkT
https://dl.doubtnut.com/l/_J3drKSmh2O5n


Solved Examples Section Vii

1. A die is thrown  times . If 'getting an odd

number' is a success, what is the probability of

(i)  successes ? 

(ii) at least  successes ? 

(iii) at most  successes ?

Watch Video Solution

6

5

5

5

https://dl.doubtnut.com/l/_J3drKSmh2O5n
https://dl.doubtnut.com/l/_uwULPi2AXQWe


2. There are 5% defective items in a large bulk

of items. What is the probability
that a sample

of 10 items will include not more than one

defective item?

Watch Video Solution

3. A bag consists of 10 balls each marked with

one of the digits 0 to 9. If four balls
are drawn

successively with replacement from the bag,

https://dl.doubtnut.com/l/_IqK0SIXSKIAe
https://dl.doubtnut.com/l/_9msxpJqwV6eX


what is the probability
 that none is marked

with the digit 0?

Watch Video Solution

4. A pair of dice is thrown 4 times. If getting a

doublet is considered a success then find the

probability of exactly 2 successes.

Watch Video Solution

https://dl.doubtnut.com/l/_9msxpJqwV6eX
https://dl.doubtnut.com/l/_gwPPtIEDTZYN


5. The probability that a bulb produced by a

factory will fuse after 150 days of use is 0·05.

Find the probability that out of 5 such bulbs:

(i) none (ii) not more than one (iii) more than

one (iv) at least one will fuse after 150 days of

use.

Watch Video Solution

6. Five cards are drawn successively with

replacement from a well-shuffled deck
 of 52

https://dl.doubtnut.com/l/_hCKpOR105yTt
https://dl.doubtnut.com/l/_qpXVeIrOKRGs


cards. What is the probability that none is a

spade?

Watch Video Solution

7. It is known that 10% of certain articles

manufactured are defective. What is the

probability that in a random sample of 12 such

articles, 9 are defective?

Watch Video Solution

https://dl.doubtnut.com/l/_qpXVeIrOKRGs
https://dl.doubtnut.com/l/_AYCyqCxhWI2C


8. On a multiple choice examination with three

possible answers for each of the
 five

questions, what is the probability that a

candidate would get four or more
 correct

answers just by guessing ?

Watch Video Solution

9. Find the probability of throwing at most 2

sixes in 6 throws of a single die.

Watch Video Solution

https://dl.doubtnut.com/l/_drysGscZ5x59
https://dl.doubtnut.com/l/_ccJbJB9ODzm3


10. In an examination, 20 questions of true-

false type are asked. Suppose a student
tosses

a fair coin to determine his answer to each

question. If the coin falls
 heads, he answers

'true', if it falls tails, he answers 'false'. Find the

probability
 that he answers at least 12

questions correctly.

Watch Video Solution

https://dl.doubtnut.com/l/_ccJbJB9ODzm3
https://dl.doubtnut.com/l/_3R3X7NqTVD9V


11. Suppose  has a binomial distribution 

 . Show that  is the most likely

outcome .

Watch Video Solution

X

B(6, )
1

2
X = 3

12. A person buys a lottery ticket in 50

lotteries, in each of which his chance of

winning a prize is  . What is the

probability that he will win a prize exactly

once.

1

100

https://dl.doubtnut.com/l/_J2RTezuH8HNU
https://dl.doubtnut.com/l/_U9JPGD8sO43M


Assignment Section I Multiple Choice Question

Watch Video Solution

1. In a box containing 100 bulbs, 10 are

defective. The probability that out of a sample

of 5 bulbs none is defective is :

A. 

B. 

C. 

D. 

10− 1

( )
5

1
2

( )
59

10

( )
9

10

https://dl.doubtnut.com/l/_U9JPGD8sO43M
https://dl.doubtnut.com/l/_OoqeaJIxaC2p


Answer: C

Watch Video Solution

2. In rolling of two fair six faced dice, the

probability of getting total 7 is :

A. 

B. 

C. 

D. 

0

1

6

5

36

1

https://dl.doubtnut.com/l/_OoqeaJIxaC2p
https://dl.doubtnut.com/l/_PbIcAi2MvVsz


Answer: B

Watch Video Solution

3. If  and 

 then  is

A. 

B. 

C. 

D. 

P (A) = , P (B) =
1

3

1

2

P (A ∩ B) =
1

6
P (A' ∩ B' )

1

3

1

2

5

6

1

6

https://dl.doubtnut.com/l/_PbIcAi2MvVsz
https://dl.doubtnut.com/l/_LpBFq4TnZCUS


Answer: A

Watch Video Solution

4. If  and 

 then  is

A. 

B. 

C. 

D. None of these .

P (A) = , P (B) =
6

11

5

11

P (A ∪ B) =
−1

11
P (A ∩ B)

3

11

4
11

5

11

https://dl.doubtnut.com/l/_LpBFq4TnZCUS
https://dl.doubtnut.com/l/_PV0M8848PIS2


Answer: B

Watch Video Solution

5. If A and B are two independent events ,

where  then 

 is

A. 

B. 

C. 

D. None of these .

P (A) = 0.3, P (B) = 0.4. ,

P (A ∪ B)

0.7

0.1

0.12

https://dl.doubtnut.com/l/_PV0M8848PIS2
https://dl.doubtnut.com/l/_lAOqZZcjOAIq


Answer: C

Watch Video Solution

6. If

 ,

then  is equal to

A. 

B. 

C. 

D. 

P (A) = 0.2, P (B) = 0.4, P (A ∪ B) = 0.6

P (A /B)

0.8

0.5

0.3

0

https://dl.doubtnut.com/l/_lAOqZZcjOAIq
https://dl.doubtnut.com/l/_iCrfM6GrAIXq


Answer: D

Watch Video Solution

7. A fair die is rolled. Consider events A = {2,4,6}

, B = {1,3} and C = {2,3,5,6}, Find p(A/B) and

P(B/A).

Watch Video Solution

8. A coin is tossed 4 times. If getting a tail is a

success, then the probability of 3 successes is :

https://dl.doubtnut.com/l/_iCrfM6GrAIXq
https://dl.doubtnut.com/l/_NF2KnVxbxngr
https://dl.doubtnut.com/l/_KumiPnovojtx


Assignment Section Ii Short Answer Type

Question

A. 

B. 

C. 

D. None of these .

Answer: A

Watch Video Solution

1

4

1

6

1

8

https://dl.doubtnut.com/l/_KumiPnovojtx


1. If  and 

 then find  .

Watch Video Solution

P (A) = , P (B) =
2

13

3

13

P (A ∩ B) =
1

13
P (A /B)

2. If  and 

 , find  .

Watch Video Solution

P (A) = 0.3, P (B) = 0.6

P (B /A) = 0.5 P (A /B)

https://dl.doubtnut.com/l/_NZojADejFwML
https://dl.doubtnut.com/l/_dMegvXnnpoLt


3. A pair of fair dice is thrown. Find the

probability that the sum is  or greater if 

appears on the first dice .

Watch Video Solution

10 5

4. A die is thrown three times : 

E :  appears on the third toss . 

F :  and  appear repectively on first two

torses. 

Find  .

4

6 5

P (E/F )

https://dl.doubtnut.com/l/_XB47JkWM2Yof
https://dl.doubtnut.com/l/_L9ljlyilvxLl


Watch Video Solution

5. Assume that each born child is equally likely

to be a boy or a girl. If a family has
 two

children, what is the conditional probability

that both are girls given that the youngest is a

girl.

Watch Video Solution

6. A family has two children. What is the

probability that both the children are
 boys

https://dl.doubtnut.com/l/_L9ljlyilvxLl
https://dl.doubtnut.com/l/_d4XNcEQlYk0k
https://dl.doubtnut.com/l/_jgGyNALJQ1v4


given that at least one of them is a boy ?

Watch Video Solution

7. Findthe probability of getting king card

when a card is drawn frm well shuffled pack 52

cards.

Watch Video Solution

8. Two coins are tossed once, where 

(i) E : tail appears on one coin, F : one coin

https://dl.doubtnut.com/l/_jgGyNALJQ1v4
https://dl.doubtnut.com/l/_D8IlXvPxAw5X
https://dl.doubtnut.com/l/_d4vKZ0JWcYYo


shows head 

(ii) E : no tail appears, F : no head appears 

Determine  .

Watch Video Solution

P (E/F )

9. One card is drawn from a well-shuffled pack

of  cards. E is the event ''the card drawn is a

king or queen'' and F is the event '' the card

drawn is a queen or an ace ''. Then find the

probability of the conditional event E/F .

Watch Video Solution

52

https://dl.doubtnut.com/l/_d4vKZ0JWcYYo
https://dl.doubtnut.com/l/_gdftEtIkYzXA


Assignment Section Iii

10. A bag contains  red and  black balls. Two

balls are selected at random without

replacement . If the second selected is given to

be red, what is the probability that the first

selected is also red ?

Watch Video Solution

3 7

https://dl.doubtnut.com/l/_gdftEtIkYzXA
https://dl.doubtnut.com/l/_jWE5tdAvvfO0


1. If  find 

if A and B are independent events .

Watch Video Solution

P (A) = 0.38, P (B) = 0.5 P (A ∪ B)

2. Let A and B are independent events with

 and  find 


(i)  


(ii)  


(iii)  


(iv) 

P (A) = 0.3 P (B) = 0.4

P (A ∩ B)

P (A ∪ B)

P (A /B)

P (B /A)

https://dl.doubtnut.com/l/_EZfOxrUw1H2M
https://dl.doubtnut.com/l/_1gAgl8ESDmQ4


Watch Video Solution

3. Given two independent events A,B such that

 find : 


(i) P(A and B) 

(ii) P(A and not B) 

(iii) P(A or B) 

(iv) neither (A nor B)

Watch Video Solution

P (A) = 0.3, P (B) = 0.6

https://dl.doubtnut.com/l/_1gAgl8ESDmQ4
https://dl.doubtnut.com/l/_x8pw9Az0JPDn


4. If A and B are independent events . Find

P(B), if  and 

Watch Video Solution

P (A) = 0.40 P (A ∪ B) = 0.70

5. For two events A and B, let  and 

 and  

(i) Find p, so that A and B are independent

events. 

(ii) Find p, so that A and B are matually

exclusive events .

P (A) = 0.4

P (B) = p P (A ∪ B) = 0.6

https://dl.doubtnut.com/l/_ZSL80IWVkFL5
https://dl.doubtnut.com/l/_nsJdCa6ZLWvE


Watch Video Solution

6. If  ( not A or not

B)=  

State whether A and B are independent .

Watch Video Solution

P (A) = , P (B) = p
1

2
7
12

1

4

7. An unbiased die is thrown twice. Let the

event A be ‘odd number on the
first throw’ and

B the event ‘odd number on the second throw’.

Check the independence
of the events A and B.

https://dl.doubtnut.com/l/_nsJdCa6ZLWvE
https://dl.doubtnut.com/l/_8kRWLLjZmKQ5
https://dl.doubtnut.com/l/_hv7jbjuvcrLu


Watch Video Solution

8. A die is thrown. If E is the event ‘the number

appearing is a multiple of
 3’ and F be the

event ‘the number appearing is even’ then find

whether E and F are
independent ?

Watch Video Solution

9. Three coins are tossed simultaneously.

Consider the event E ‘three heads
 or three

https://dl.doubtnut.com/l/_hv7jbjuvcrLu
https://dl.doubtnut.com/l/_Vd8tbFM5pJUm
https://dl.doubtnut.com/l/_2cRJ3MRyHkPt


tails’, F ‘at least two heads’ and G ‘at most two

heads’. Of the pairs (E,F),
 (E,G) and (F,G), which

are independent? which are dependent?

Watch Video Solution

10. A coin is tossed thrice . In which of the

following cases are the events E and F

independent ? 

(i) E : ''the first throw results in head'' . F : ''the

last throw results in tail'' . 

(ii) E : ''the number of heads is two'' . F : ''the

https://dl.doubtnut.com/l/_2cRJ3MRyHkPt
https://dl.doubtnut.com/l/_PDcfvyp4qcqU


Assignment Section Iv

last throw results in head'' . 

(iii) E : '' the number of heads is odd'' . F : '' the

number of tails is odd'' .

Watch Video Solution

1. An urn contains  red and  blue balls . Two

balls are drawn at random with replacement .

Find the probability of getting 

(i)  red balls 

4 7

2

https://dl.doubtnut.com/l/_PDcfvyp4qcqU
https://dl.doubtnut.com/l/_87iUZTu2Vj2a


(ii)  blue balls 

(iii) one red and one blue ball.

Watch Video Solution

2

2. An urn contains  red and  blue balls . Two

bolls are drawn at random with replacement .

Find the probability of getting 

 red balls 

(ii)  blue balls 

(iii) one red and one blue ball .

Watch Video Solution

6 4

2

2

https://dl.doubtnut.com/l/_87iUZTu2Vj2a
https://dl.doubtnut.com/l/_2SeVjBbFwVzA


3. An urn contains 10 black and 5 white balls.

Two balls are drawn from the
urn one after the

other without replacement. What is the

probability that both drawn
balls are black?

Watch Video Solution

4. A bag contains  white and  black balls.

Four balls are successively drawn out without

replacement . What is the probability that they

are alternately of different colours ?

5 3

https://dl.doubtnut.com/l/_2SeVjBbFwVzA
https://dl.doubtnut.com/l/_GWUzwdbPQZO8
https://dl.doubtnut.com/l/_1uEUpZmjz2hC


Watch Video Solution

5. A bag contains  red and  black balls and

second bag contains  red and  black balls . A

ball is drawn from each bag . Find the

probability that one is red and other is black .

Watch Video Solution

3 5

6 4

6. There are three urns A,B and C . Urn A

contains  white balls and  blue balls . Urn B4 5

https://dl.doubtnut.com/l/_1uEUpZmjz2hC
https://dl.doubtnut.com/l/_QByyaCq88Rxk
https://dl.doubtnut.com/l/_PVPxUdLLhz9U


contains  white balls and  blue balls . Urn C

contains  white balls and  blue balls . One

ball is drawn from each of these urns . What is

the probability that out of these three balls

drawn, two are white balls and one is a blue

ball ?

Watch Video Solution

3 4

3 6

7. In bag A , there are 5 white and  red balls,

in bag B,  white and  red balls and in bag C,

 white and  red balls. One ball is taken out a

8

7 6

6 5

https://dl.doubtnut.com/l/_PVPxUdLLhz9U
https://dl.doubtnut.com/l/_fhbVfg3gHtFV


random from each bag. Find the probability

that all the three balls are of the same colour.

Watch Video Solution

8. Three cards are drawn successively, without

replacement from a pack of
 52 well shuffled

cards. What is the probability that first two

cards are kings and the
third card drawn is an

ace?

Watch Video Solution

https://dl.doubtnut.com/l/_fhbVfg3gHtFV
https://dl.doubtnut.com/l/_SWPIsrPb1DSN
https://dl.doubtnut.com/l/_jH5pVCmrCcPF


9. Three groups of children contain

respectively  girls and  boy ,  girl and  boys

,  girl and  boys . One child is selected at

random from each group.The chance that the

three selected children consists of one girl

and 2 boys is

Watch Video Solution

3 1 2 2

1 2

10. A and B appeared for an interview. The

probability of their selection is  and 
1

3

1

4

https://dl.doubtnut.com/l/_jH5pVCmrCcPF
https://dl.doubtnut.com/l/_fte1LMg3zyT0


respectively. Find the probability that both

selected

Watch Video Solution

11. Rishav and Mahesh appeared for an

interview. The probability of their selection is

 and  respectively . Find the probability . 


(i) both selected 

(ii) only one of them selected 

(iii) neither of them selected .

Watch Video Solution

1

3

1

5

https://dl.doubtnut.com/l/_fte1LMg3zyT0
https://dl.doubtnut.com/l/_8s9DL1Z50Eol


12. A and B appeared for an interview. The

probability of their selection is  and 

respectively. Find the probability that both

selected

Watch Video Solution

1

3

1

4

13. The probability of A solving a problem is '

(2)/(7)' and that of B solving it is  . What is

the probability that 

(i) at least one of them will solve the problem

3

7

https://dl.doubtnut.com/l/_8s9DL1Z50Eol
https://dl.doubtnut.com/l/_uSmykpGdcRwu
https://dl.doubtnut.com/l/_e46fZuDfI3en


? 

(ii) Only one of them will solve the problem ?

Watch Video Solution

14. A problem is given to three students,

whose chances of solving it are :

 respectively. Find the

probability that exactly one of them may solve

it.

Watch Video Solution

, and
1

4

1

3

1

2

https://dl.doubtnut.com/l/_e46fZuDfI3en
https://dl.doubtnut.com/l/_Sj6OhSLq47Dt
https://dl.doubtnut.com/l/_zHdsvnjFrqd7


15. A speaks truth in  of the cases and B

in  of the cases. In what percent of cases

are they likely to agree in stating the fact ? Do

you think, when they agree mean both are

speaking truth ?

Watch Video Solution

70 %

80 %

16. The probability of hitting a plane by an

anti-aircraft gun in  shots is  and 

 respectively . What is the probability gun

hits the plane ?

4 , ,
2

5

3

10

1

5
1

10

https://dl.doubtnut.com/l/_zHdsvnjFrqd7
https://dl.doubtnut.com/l/_7PEXU02aqL56


Assignment Section V

Watch Video Solution

17. A and B throw a die alternatively till one of

them gets a ‘6’ and wins the
 game. Find their

respective probabilities of winning, if A starts

first.

Watch Video Solution

https://dl.doubtnut.com/l/_7PEXU02aqL56
https://dl.doubtnut.com/l/_Uy5c0to0pa6n


1. One bag contains  white and  black balls.

Another bag contains  white and  black

balls. One ball at random is transferred from

the first bag to the second bag and then a ball

is drawn from the second bag . Find the

probability that the ball drawn is white .

Watch Video Solution

5 6

7 3

2. A bag contains  yellow and  red balls and

another bag contains  yellow and  red balls .

4 5

6 3

https://dl.doubtnut.com/l/_h52xt3ggmUVS
https://dl.doubtnut.com/l/_enJ1JtYPsawq


A ball is drawn from the first bag and without

seeing its colour, it is put into the second bag .

Find the probabilty that if now a ball is drawn

from the second bag, it is yellow in colour .

Watch Video Solution

3. There are two bags I and II . Bag I contains 

white and  red balls and Bag II contains 

white and  red balls. One ball is drawn at

random from one of the bags and is found to

3

2 5

4

https://dl.doubtnut.com/l/_enJ1JtYPsawq
https://dl.doubtnut.com/l/_HYJCpCE2WGO4


be red. Find the probability that it was drawn

from bag II .

Watch Video Solution

4. Bag I contains 3 red and 4 black balls and

Bag II contains 4 red and 5 black balls.
One ball

is transferred from Bag I to Bag II and then a

ball is drawn from Bag II.
The ball so drawn is

found to be red in colour. Find the probability

that the
transferred ball is black

Watch Video Solution

https://dl.doubtnut.com/l/_HYJCpCE2WGO4
https://dl.doubtnut.com/l/_mlpHeETaq05X


5. A bag contains 4 red and 4 black balls,

another bag contains 2 red and 6 black
 balls.

One of the two bags is selected at random and

a ball is drawn from the bag
which is found to

be red. Find the probability that the ball is

drawn from the
first bag.

Watch Video Solution

6. Bag I contains 3 red and 4 black balls while

another Bag II contains 5 red
and 6 black balls.

https://dl.doubtnut.com/l/_mlpHeETaq05X
https://dl.doubtnut.com/l/_wfJcXvmQfbuP
https://dl.doubtnut.com/l/_cVVPOud8I35a


One ball is drawn at random from one of the

bags and it is found to
 be red. Find the

probability that it was drawn from Bag II.

Watch Video Solution

7. A person has undertaken a construction job.

The probabilities are 0·65 that there will be

strikes 0·80, that the construction job will be

completed on time if there is no strike, and

0·32 that the construction job will be

completed on time if there is a strike.

https://dl.doubtnut.com/l/_cVVPOud8I35a
https://dl.doubtnut.com/l/_6sb9H0j9otMA


Determine the probability that the

construction job will be completed on time.

Watch Video Solution

8. Bag I contains 3 red and 4 black balls while

another Bag II contains 5 red
and 6 black balls.

One ball is drawn at random from one of the

bags and it is found to
 be red. Find the

probability that it was drawn from Bag II.

Watch Video Solution

https://dl.doubtnut.com/l/_6sb9H0j9otMA
https://dl.doubtnut.com/l/_eqXXxf8lsG28
https://dl.doubtnut.com/l/_DLulxNc7FvvP


9. Suppose that the reliability of a HIV test is

specified as follows:
Of people having HIV, 90%

of the test detect the disease but 10% go

undetected. Of
 people free of HIV, 99% of the

test are judged HIV–ive but 1% are diagnosed

as
 showing HIV+ive. From a large population

of which only 0.1% have HIV, one person
 is

selected at random, given the HIV test, and the

pathologist reports him/her as
 HIV+ive. What

is the probability that the person actually has

HIV?

Watch Video Solution

https://dl.doubtnut.com/l/_DLulxNc7FvvP


10. In a bolt factory, three machines A, B and C

manufacturers ,  and  percent of the

total bolts . Of their output ,  and  percent

are defective respectively. A bolt is drawn at

random and found to be defective. Find the

probability that it was manufactured by

machine B.

Watch Video Solution

25 35 40

5 4 2

https://dl.doubtnut.com/l/_DLulxNc7FvvP
https://dl.doubtnut.com/l/_GOjA66gAVJSG


11. Give three identical boxes I , II and III, each

containing two coins. In box I both coins are

gold coins, in box II both are silver coins and in

box III there is one gold and one silver coin. A

person chooses a box at random and takes

out a coin. If the coin is of gold, what is the

probability that the other coin in the box is

also of gold ?

Watch Video Solution

https://dl.doubtnut.com/l/_bLYoK43kzSJS


12. A motorcycle manufacturing company has

two plants A and B. Plant A produces  of

motorcycle and plant B produces  . At

plant A,  of motorcycles are rated as of

standard quality and at plant B,  of the

motorcycles are rated as of standard quality .

A motorcycle is chosen at random and is

found to be of standard quality . What is the

chance that it has come from plant A ?

Watch Video Solution

70 %

30 %

80

90 %

https://dl.doubtnut.com/l/_lDw9hwGxdddJ
https://dl.doubtnut.com/l/_OdABcvTzYrS6


13. A bag  contains one red and one white

marble and bag  contains  red and one

white marble. A bag is chosen by a toss of a

coin and one marble is drawn at random from

the box chosen. Given that a red marble is

obtained, what is the probability that the

marble was drawn from bag  ?

Watch Video Solution

B1

B2 3

B1

14. An insurance company insured 2000

scooter drivers, 4000 car drivers and 6000

https://dl.doubtnut.com/l/_OdABcvTzYrS6
https://dl.doubtnut.com/l/_dEhrmxbccGFN


truck drivers . The probability of an accident

involving a scooter, car and a truck is

 and  respectively . One of the

insured persons meets with an accident. What

is the probability that he is a (i) scooter driver

(ii) car driver and (iii) truck driver ?

Watch Video Solution

,
1

100

3

100

3

20

15. A man is known to speak the truth 3 out of

4 times. He throws a die and reports that it is

https://dl.doubtnut.com/l/_dEhrmxbccGFN
https://dl.doubtnut.com/l/_KXmJlHxQIJlk
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a six. Find the probability that it is actually a

six.

Watch Video Solution

16. If P(A) = 0 , P(B) = 1/3 then find P(B/A) .

Watch Video Solution

https://dl.doubtnut.com/l/_KXmJlHxQIJlk
https://dl.doubtnut.com/l/_M5molpfPL39T


1. Find the probability distribution of number

of doublets in three throws of
a pair of dice.

Watch Video Solution

2. Find the probability distribution of the

number of sixex in two tosses of a die .

Watch Video Solution

https://dl.doubtnut.com/l/_yO8sZU8yc70b
https://dl.doubtnut.com/l/_NosP1GIUZ0cg


3. Find the probability distribution of number

of times getting a  or a  in two tosses of a

die .

Watch Video Solution

5 6

4. Find the probability distribution of the

number of times a total of  '' appears in two

tosses of two dice .

Watch Video Solution

9

https://dl.doubtnut.com/l/_uIyYG7yph7Ew
https://dl.doubtnut.com/l/_XM9Yl5LpLKHP
https://dl.doubtnut.com/l/_DJ8U1thFmzSF


5. Find the probability distribution of number

of heads in four tosses of a coin.

Watch Video Solution

6. A coin is tossed  times .  is the number of

heads of observed . Find the probability

distribution of X .

Watch Video Solution

5 X

https://dl.doubtnut.com/l/_DJ8U1thFmzSF
https://dl.doubtnut.com/l/_ydEkeas5pP24


7. Two cards are drawn successively with

replacement from a well shuffled pack of 

cards. Find the probability distribution of the 

(i) number of queens 

(ii) number of aces

Watch Video Solution

52

8. Two cards are drawn simultaneously without

replacement from a well shuffled deck of 

cards. Find the probability distribution of the 

52

https://dl.doubtnut.com/l/_o46NuJOUYVWO
https://dl.doubtnut.com/l/_8pcP5xghjstf


(i) number of kings 

(ii) number of queens .

Watch Video Solution

9. Find the probability distribution of white

balls drawn when  balls are drawn one by one

without replacement from a bag containing 

white and  red balls .

Watch Video Solution

3

4

6

https://dl.doubtnut.com/l/_8pcP5xghjstf
https://dl.doubtnut.com/l/_Di0ICqLLsiFG


10. A bag contains  white ,  red and  blue

balls. Two balls are drawn at random from the

bag . If the random variable  denotes the

number of white balls among the two balls

drawn, describe the probability distribution of

 :

Watch Video Solution

2 3 4

X

X

11. Three cards are drawn successively with

replacement from well- shuffled deck of 52

https://dl.doubtnut.com/l/_6w1FhtdGsxOw
https://dl.doubtnut.com/l/_JDDEE5BGBjZR


Assignment Section Vii

cards. A random variable  denotes the

number of spades in three cards. Determine

the probability distribution of  .

Watch Video Solution

X

X

1. Find the mean number of heads in three

tosses of a fair coin.

Watch Video Solution

https://dl.doubtnut.com/l/_JDDEE5BGBjZR
https://dl.doubtnut.com/l/_vjXdk6R9aKtN
https://dl.doubtnut.com/l/_I1OG3Dts5pKb


2. Two cards are drawn successively with

repalcement from a well-shuffled pack of 

cards. Find the probability distribution of the

number of kings and hence find the mean of

the distribution .

Watch Video Solution

52

3. Two cards are drawn simultaneously (

without replacement) from a well-shuffled

pack of  cards . Find the mean and variance

of the number of red cards .

52

https://dl.doubtnut.com/l/_I1OG3Dts5pKb
https://dl.doubtnut.com/l/_kCsTmgCCDapy


Watch Video Solution

4. Two dice are thrown simultaneously and

getting a number ''less than  '' is consider a

success` . Obtain the mean and variance of the

number of successes .

Watch Video Solution

3

5. Two bad eggs are mixed accidentally with 

good ones. Three eggs are drawn at random

10

https://dl.doubtnut.com/l/_kCsTmgCCDapy
https://dl.doubtnut.com/l/_phrmzs6Y5xku
https://dl.doubtnut.com/l/_u4oBkkZuu4aA


without replacement from this lot . Find the

mean and variance for the number of bad

eggs .

Watch Video Solution

6. A die tossed twice . Getting a number

greater than  is considered a success . Find

the variance of the probability distribution of

the number of successes .

Watch Video Solution

4

https://dl.doubtnut.com/l/_u4oBkkZuu4aA
https://dl.doubtnut.com/l/_luSUy3xrxGfg


Assignment Section Viii

1. A coin is tossed  times . What is the

probability of getting at least  heads ?

Watch Video Solution

5

3

2. Six coins are tossed simultaneously . What is

the probability of getting 3 heads.

Watch Video Solution

https://dl.doubtnut.com/l/_ckbvCsgNxfvq
https://dl.doubtnut.com/l/_3ggiNPFPdjkH
https://dl.doubtnut.com/l/_9bwDch0foFVI


3. A pair of dice is thrown  times. If getting a

doublet is considered a success, find the

probability of  successes .

Watch Video Solution

3

2

4. A pair of dice is thrown  times . If getting a

total  is considered a success, what is the

probability of : 

(i) no success 

(ii)  successes 

7

7

6

https://dl.doubtnut.com/l/_9bwDch0foFVI
https://dl.doubtnut.com/l/_JgiZmPjBO88f


(iii) at least  successes and 

(iv) at most  successes ?

Watch Video Solution

6

6

5. In large collection of plants ,  out of  are

daffodils and the rest are tulips . If they

planted at random . Calculate the probability

that in a row of five plants 

(i) all are daffodils 

(ii) at least four are daffodils

Watch Video Solution

3 5

https://dl.doubtnut.com/l/_JgiZmPjBO88f
https://dl.doubtnut.com/l/_ZSAvbO7LdsOi


6. Determine the Binomial Distribution for

each which the mean is  and standard

deviation is  .

Watch Video Solution

4

√3

7. A bag contains  white ,  red and  black

balls . If four balls are drawn one by one with

replacement, what is the probability that : 

(i) all are white ? 

(ii) only  are white ? 

5 7 8

3

https://dl.doubtnut.com/l/_ZSAvbO7LdsOi
https://dl.doubtnut.com/l/_GTslScnpFuo9
https://dl.doubtnut.com/l/_cTbZEM9UlUhc


(iii) none is white ? 

(iv) at least three are white ?

Watch Video Solution

8. Five dice are thrown simultaneously . If the

occurrence of an even number in a single die

is considered a success, find the probability of

at most  successes .

Watch Video Solution

3

https://dl.doubtnut.com/l/_cTbZEM9UlUhc
https://dl.doubtnut.com/l/_ob4YSocy2Ijj


9. Ten eggs are drawn successively with

replacement from a lot containing 

detective eggs . Find the probability that there

is exactly one defective egg .

Watch Video Solution

10 %

10. There are  chances for a worker of an

industry to suffer from an occupational

disease,  workers were selected at random

and examined for the occupational disease.

20 %

50

https://dl.doubtnut.com/l/_kZ963dNoml7T
https://dl.doubtnut.com/l/_XVGidfq2NS1d


Find the probability that : 

(i) only one worker is found suffering from the

disease 

(ii) more than  are suffering from the disease

and 

(iii) none is suffering from the disease .

Watch Video Solution

3

11. Three coins are tossed simultaneously. Find

the probability of getting atleast one tail.

Watch Video Solution

https://dl.doubtnut.com/l/_XVGidfq2NS1d
https://dl.doubtnut.com/l/_xvsbgAkNATrp


12. Find the probability that in a family of 

children there will be : 

(i) atleast  boy 

(ii) atleast  boy and  girl 

Assume that the probability of a male birth is

 .

Watch Video Solution

4

1

1 1

1

2

13. If there are two children in a family,find the

probability that there is atleast one girl in a

https://dl.doubtnut.com/l/_xvsbgAkNATrp
https://dl.doubtnut.com/l/_qTsgnfhr7Y6y
https://dl.doubtnut.com/l/_kxCdSHEjxIQg


family.

Watch Video Solution

14. Suppose  has a binomial distribution 

 . Find the most likely outcome .

Watch Video Solution

X

B(4, )
1

3

15. If a fair coin is tossed  times, find the

probability of exactly zero heads

Watch Video Solution

10

https://dl.doubtnut.com/l/_kxCdSHEjxIQg
https://dl.doubtnut.com/l/_PAHvqCPJLlLQ
https://dl.doubtnut.com/l/_0XeZAkp2PIK4


Previous Year Board S Questions For Practice

Multiple Choice Question

1. The mean of binomial distribution is  and

its variance is  . The number if trails is :

A. 

B. 

C. 

D. 

3

3

2

2

6

12

9

https://dl.doubtnut.com/l/_0XeZAkp2PIK4
https://dl.doubtnut.com/l/_cdnbWe9EI5sN


Answer: B

Watch Video Solution

2. lf  and 

 then find .

A. 

B. 

C. 

D. 

2P (A) = P (B) =
5

13

P (A /B) =
2

5
P (A ∪ B)

11

26

26

11

5

13

2

5

https://dl.doubtnut.com/l/_cdnbWe9EI5sN
https://dl.doubtnut.com/l/_6cygiYwMWkcl


Answer: A

Watch Video Solution

3. A die is tossed twice. The probability of

getting a doublet is

A. 

B. 

C. 

D. None of these

1

2

1

6

1

3

https://dl.doubtnut.com/l/_6cygiYwMWkcl
https://dl.doubtnut.com/l/_CvoBGvf49kai


Answer: C

Watch Video Solution

4. A die is thrown once, the probability of

getting a number less than  is

A. 

B. 

C. 

D. 

3

1

3

2

3

1

6

0

https://dl.doubtnut.com/l/_CvoBGvf49kai
https://dl.doubtnut.com/l/_J1dQ53OATSfN


Previous Year Board S Questions For Practice

Answer: A

Watch Video Solution

1. If  and 

, then find 


(i)  


(ii) 

Watch Video Solution

P (A) = , P (B) =
5

7

3

7

P (A ∪ B) =
6

7

P (A ∩ B)

P (B /A)

https://dl.doubtnut.com/l/_J1dQ53OATSfN
https://dl.doubtnut.com/l/_BOpzUotq71W9


2. If  and 

, then find 


(i)  


(ii) 

Watch Video Solution

P (A) = , P (B) =
1

5

3

10

P (A ∩ B) =
3

25

P (A /B)

P (A ∪ B)

3. If ,

find 

(i)  


(ii) 

P (A /B) = , 2P (A) = P (B) =
2

5

5

9

P (A ∩ B)

P (A ∪ B)

https://dl.doubtnut.com/l/_yHJjPC9kLdQd
https://dl.doubtnut.com/l/_IeMSFJvxgCOB


Watch Video Solution

4. If A and B are two independent events such

that  and  find

P(B).

Watch Video Solution

P (A ∪ B) = 0.6 P (A) = 0.2

5. If , find P(B) .

Here A and B are independent events .

Watch Video Solution

P (A) = 0.5, P (A ∪ B) = 0.7

https://dl.doubtnut.com/l/_IeMSFJvxgCOB
https://dl.doubtnut.com/l/_tiOfkME2WvpJ
https://dl.doubtnut.com/l/_pHsPf0Ig847Q


6. If , find P(B).

Here A and B are independent events .

Watch Video Solution

P (A) = 0.2, P (A ∪ B) = 0.5

7. A problem is given to three students, whose

chances of solving it are : 

respectively. Find the probability than exactly

one of them may solve it.

Watch Video Solution

, and
1

3

1

5

1

6

https://dl.doubtnut.com/l/_ItBYyxoxqDCx
https://dl.doubtnut.com/l/_vvBJwRrLzngL
https://dl.doubtnut.com/l/_gnogkLKOzHt6


8. A problem is given to three students, whose

chances of solving it are  and 

respectively . 

find the probability that exactly one of them

may solve the problem .

Watch Video Solution

,
1

5

1

7

1

3

9. Two bags contain  red and  black,  red

and  black balls. One ball is drawn at random

from one of the bags and found to be red.

6 4 2

6

https://dl.doubtnut.com/l/_gnogkLKOzHt6
https://dl.doubtnut.com/l/_1X8toCKMp00Y


Find the probability that it is drawn from the

second bag .

Watch Video Solution

10. An unbiased coin is thrown thrice. If the

random variable  denotes the number of

heads obtained, describe the probability

distribution of  .

Watch Video Solution

X

X

https://dl.doubtnut.com/l/_1X8toCKMp00Y
https://dl.doubtnut.com/l/_UMS6sXrqbEia


11. A coin is tossed  times.  is the number of

heads observed. Find the probability

distribution of  .

Watch Video Solution

4 X

X

12. Two cards are drawn (without replacement)

from a well shuffled deck of 52 cards. Find

probability distribution table and mean of

number of kings.

Watch Video Solution

https://dl.doubtnut.com/l/_dBBzgvqHowIi
https://dl.doubtnut.com/l/_QBVOwKEN7ldp


13. Four dice are thrown simultaneously. If the

occurrence of 2, 4 or 6 in single die is

considered a success, ·find the probability of at

least three successes.

Watch Video Solution

14. In four throws with a pair of dice, what is

probability of throwing doublet at least twice .

Watch Video Solution

https://dl.doubtnut.com/l/_QBVOwKEN7ldp
https://dl.doubtnut.com/l/_icJWgKcyysLy
https://dl.doubtnut.com/l/_qHWgFWqhUE4n


15. Find the probability distribution of number

of doublets in three throws of
a pair of dice.

Watch Video Solution

16. A problem is given to three students whose

chances of solving it are  and 

respectively. 

What is the probability that at least one of

them may solve it ?

Watch Video Solution

,
1

3

1

2

1

6

https://dl.doubtnut.com/l/_neM6fHtLTFIF
https://dl.doubtnut.com/l/_AfMDZ8BCCddO


17. A problem of mathematics is given to three

students whose chances of solving it are

 and  and respectively. What is the

probability that the problem will be solved .

Watch Video Solution

,
1

3

1

4

1

5

18. one bag contains  white and  black balls.

Another bag contains  white and  black

balls. One ball at random is transferred from

the first bag to the second bag and then a ball

6 5

5 3

https://dl.doubtnut.com/l/_AfMDZ8BCCddO
https://dl.doubtnut.com/l/_J0synAmvYuyG
https://dl.doubtnut.com/l/_pDnm8akwzVSB


is drawn from the second bag. Find the

probability that the ball drawn is white .

Watch Video Solution

19. A bag 'A' contains  red and  blue balls,

while the other bag 'B' contains  red and 

blue balls. A ball is transferred (without

noticing its colour ) from the bag 'A' to the bag

'B' . Then a ball is drawn from bag 'B' . Find the

probability that the ball drawn is blue .

Watch Video Solution

5 7

7 4

https://dl.doubtnut.com/l/_pDnm8akwzVSB
https://dl.doubtnut.com/l/_mH4MvnQyu9Yn


20. Let E and F be events with

 and 

. Are
E and F independent?

Watch Video Solution

P (E) = , P (F ) =
3

5

3

10
P (E ∩ F ) =

1

5

21. A die is thrown twice and the sum of the

numbers appearing is observed
to be 6. What

is the conditional probability that the number

4 has appeared at least
once?

Watch Video Solution

https://dl.doubtnut.com/l/_mH4MvnQyu9Yn
https://dl.doubtnut.com/l/_0ij2tY9SXUip
https://dl.doubtnut.com/l/_gjgiY4eKfQQW


22. A die is thrown. If E is the event ‘the

number appearing is a multiple of
3’ and F be

the event ‘the number appearing is even’ then

find whether E and F are
independent ?

Watch Video Solution

23. Given that the two numbers appearing on

throwing two dice are different. Find
 the

https://dl.doubtnut.com/l/_gjgiY4eKfQQW
https://dl.doubtnut.com/l/_qO44lKxpqXsZ
https://dl.doubtnut.com/l/_EbDOgPW1FFTc


probability of the event ‘the sum of numbers

on the dice is 4’.

Watch Video Solution

24. If a fair of coin is tossed  times, find the

probability of : 

(i) exactly six heads 

(ii) at least six heads . 

(iii) at most six heads

Watch Video Solution

10

https://dl.doubtnut.com/l/_EbDOgPW1FFTc
https://dl.doubtnut.com/l/_DNU5nu54mwVu
https://dl.doubtnut.com/l/_ss8PwG5Amslx


25. In a single throw of three dice, determine

the probability of getting 

(i) a total of  

(ii) a total of at most  

(iii) a total of at least  .

Watch Video Solution

5

5

5

26. In a single throw of two dice, find the

probability of total of 9 or I 0.

Watch Video Solution

https://dl.doubtnut.com/l/_ss8PwG5Amslx
https://dl.doubtnut.com/l/_J8EeXRuZ15My


27. In a single throw of two dice, find the

probability of total of  or 

Watch Video Solution

9 11

28. Five dice are thrown simultaneously . If the

occurence of  or  in a single die in

consider a success, then find the probability of

at least three successes.

Watch Video Solution

1, 3 5

https://dl.doubtnut.com/l/_T0osSLijb8Ok
https://dl.doubtnut.com/l/_vN7lSogQYWc0
https://dl.doubtnut.com/l/_bvuzuZbVtzXR


29. Ten coins are thrown simultaneously . Find

the probability of getting 

(i) at least  heads 

(ii) at least  heads.

Watch Video Solution

7

8

30. An unbiased die is thrown twice. Let the

event A be ‘odd number on the
first throw’ and

B the event ‘odd number on the second throw’.

Check the independence
of the events A and B.

Watch Video Solution

https://dl.doubtnut.com/l/_bvuzuZbVtzXR
https://dl.doubtnut.com/l/_qVncuK829tYI


31. Find the probability of getting  exactly

twice in  throws of a die .

Watch Video Solution

5

5

32. A die is tossed thrice. Find the probability

of getting an odd number at least once.

Watch Video Solution

https://dl.doubtnut.com/l/_qVncuK829tYI
https://dl.doubtnut.com/l/_TVyOZ2BPKBSs
https://dl.doubtnut.com/l/_GZT1Tgoew2oG


33. Find the probability distribution of the

number of tails when three coins are tossed

simultaneously.

Watch Video Solution

34. A coin is biased so that the head is 3 times

as likely to occur as tail. If the coin is
 tossed

twice, find the probability distribution of

number of tails.

Watch Video Solution

https://dl.doubtnut.com/l/_Ep5w8nqymzUm
https://dl.doubtnut.com/l/_ax4TqRXB3m5c


35. A problem is given to three children whose

chances of solving the problem are  and 

 

What is the probability 

(i) at least one of them solve it ? 

(ii) only one of them solve it correctly ?

Watch Video Solution

,
1

3

1

5
1

6

36. In a tape recorder factory, three machines

A, B and C produced 50%, 30% and 20% of

https://dl.doubtnut.com/l/_ax4TqRXB3m5c
https://dl.doubtnut.com/l/_1ORBooh0uhyZ
https://dl.doubtnut.com/l/_RXDVN37wQJHF


total production. The percentage of the

defective output of these machines are 3%, 4%

and 5% respectively. A tape recorder is

selected randomly and found to be defective,

find the probability that it is produced by

machine A.

Watch Video Solution

37. Bag I contains 3 red and 4 black balls and

Bag II contains 4 red and 5 black balls.
One ball

is transferred from Bag I to Bag II and then a

https://dl.doubtnut.com/l/_RXDVN37wQJHF
https://dl.doubtnut.com/l/_xu1xcW6YL0mi


ball is drawn from Bag II.
The ball so drawn is

found to be red in colour. Find the probability

that the
transferred ball is black

Watch Video Solution

38. Let a pair of dice be thrown and the

random variable X be the sum of the numbers

that appear on the two dice. Find the mean (or

expectation) of X.

Watch Video Solution

https://dl.doubtnut.com/l/_xu1xcW6YL0mi
https://dl.doubtnut.com/l/_wOT6tvATScPY
https://dl.doubtnut.com/l/_d9eAwSf2dxAY


39. Anurn contains  balls of which  balls

bear a mark  and the remaining  bear a

mark 'Y' . A ball is drawn at random from the

urn, its mark is noted down and it is replaced .

If  balls are drawn in this way, find the

probability that 

(i) all will bear  mark . 


(ii) not more than  will bear 'Y' mark . 

at least one ball will bear 'Y' mark . 

(iv) the number of balls with 'X' mark and 'Y'

mark will be equal .

Watch Video Solution

25 10

X 15

6

X

2

https://dl.doubtnut.com/l/_d9eAwSf2dxAY


40. There are two bags I and II . Bag I contains

 white and  red balls and bag II contains 

white and  red balls. One ball is drawn at

random from one of the bags and is found to

be red. Find the probability that it was drawn

from bag II.

Watch Video Solution

4 3 6

5

41. A bag contains 4 red and 4 black balls,

another bag contains 2 red and 6 black
 balls.

https://dl.doubtnut.com/l/_d9eAwSf2dxAY
https://dl.doubtnut.com/l/_nASfVVOO9QgN
https://dl.doubtnut.com/l/_VyuV5g58lMKO


One of the two bags is selected at random and

a ball is drawn from the bag
which is found to

be red. Find the probability that the ball is

drawn from the
first bag.

Watch Video Solution

42. Find the probability distribution of number

of heads in two tosses of a coin

Watch Video Solution

https://dl.doubtnut.com/l/_VyuV5g58lMKO
https://dl.doubtnut.com/l/_iP4DTYCeH4ZK


43. Find the mean and variance of the number

obtained on a throw of an unbiased die.

Watch Video Solution

https://dl.doubtnut.com/l/_er0YbveqARJ9

